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MANAGEMENT & ENTREPRENEURSHIP

i aaw « d7 w92 [arftreem 37@ : 70
Time allowed : Three Hours) [Maximum Marks : 70
Je: () FUH I HlAar 8, 9 7 @ el ) & I |

Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.

(ii) A% F¥ & T 9T F1 FHER TF G1Y A FHoAd /|
Solve all parts of a question consecutively together.
(iii) W% F¥7 F1 79 §8 & FREY Fiord |
Start each question on fresh page.
(iv) @1 qTeIaT B 3R g7 B 1R § 3 sae @ o 8 |

Only English version is valid in case of difference in both the languages.

1. (1) Frefafea d @@ o s y6@y @ gefia T8 2 7
(a) ROl HE (b) ¥=E wfw gra wwfaa
(c) hfert &1 fmfor (d) =qEEE & Y&Y &1 g
Which of the following function is not related to management ?
(a) Executive function
(b) Affected by human power
(¢) Formation of policies
(d) Responsibility of management of business

2) “HE FW IS ShE B & G99 § T @ A § Imew e wifke 10 yEy F

whg s ame:
(a) HHH (b) 3T I T
(c) *ft sy@en (d) Féw & wwa

“Person working should receive order from one officer at a time.” Name of this
principle of management is

(a) Centralization (b) Unity of order
(¢) Scalar chain (d) Unity of direction

(3) Tr=ferRea # ¥ #Y= a1 whrEh syaE™ H o TE R 7
(a) w990 TS (b) wHHETE & a1 gay
(c) @YUl o HIfeTeh i d) araifE i
Which of the following is not advantage of sole proprietorship ?
(a) Small overheads (b) Direct contact with staff
(¢) Whole profit to owner (d) Unlimited liabilities

(10f8) P.T.O.
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4) Tr=fafea 3 @ 25 @ frmfie g s 2
(a) el = foram ang (b) HIHI FH
(c) erfyes e dva (d) H9HE YR
Which of the following is not advantage of functional organisation ?
(a) Possibility of factory expansion
(b) Less misuse
(c) Possibility of responsibility shifting

" (d) Less work load
(5) fr=ferfen & & fbm = whawr & smur w Iefiean i Avft e, sdgee,

FIS w1 Foig fpar wman 2 2
(a) &SI qdieqo (b) TSR qdiemor
(c) rriifees ghiemm (d) I H A HiE T

On the basis of which of the following selection test rank of candidate as skilled,
semi-skilled, unskilled worker is decided ?

(a) trade test (b) employment test

(¢) physical examination (d) None of the above
(6) =33 % w1 w1l wiftfes yay F gafta 7@ 2 2

(a) Fafts oo wgrafa (b) fomra yavs

(c) g (CI L

Which of the following is not function of personnel management ?
(a) Appointments and promotions

(b) Sales management

(¢) Training

(d) Motivation

(1) Fr=fefea & @+ @1 a9g gorgh yoreh 1AM A R 7

(a) & (b) =g HIGHl T TRV
(c) ITEH ANTE HeAT (d) % AWTE AT HEE
Which of the following is not advantage of time wage system ?
(a) Simple (b)  Guarantee of minimum wage

(¢) Reduction of production cost(d) Easy to know wage cost

(8) Tr=ferfaa & & @Y7 a1 srfarefia ewmea 7 & 7

(a) W@ (b) TE FAH
(c) witagor (d) mara & gl
Which of the following is not non-financial incentive ?
(a) Bonus (b) Cheap grain

(c) Training (d) Facility of house
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)

(10)

fraffga da s A wav fawm e & 7

(a) FNGHGR ? (b) wHaTlER ?

(c) wnfEFaFme? ) (a)d(b) Mt
Which of the following are objectives of purchase department ?
(a) What to purchase ? (b) When to purchase ?
(c) What to sale ? (d) Both (a)and (b)
Hifira fifirer & st wm o arelt & ) T e ad R 2 :
(a) T (b) U & HAfU®

() (a)d(b)3Hiad (d) (a)d (b) qHi TIeTa
How many numbers of firms participate in limited tender ?

(a) one (b) more than one

(¢) (a)and (b) both correct (d) (a)and (b) both wrong

(11) frefefea § & 917 @1 7= a9 F1 TSR R ?

(a) UHA B FEH (b) TEE FTEH

(c) TIEH HIEY (d) it HgEy

Which of the following is not a valid type of contract ?

(a) Single work contract (b) All acceptable contract

(¢) Lumpsum contract (d) Percentage contract
(12) Frefefea & @ # & guan frfa e & 78 & 7

(a) WRREE (b) W

(c) §mH & faam (d) —gFas qmE

Which of the following information is not in issue voucher ?

(a) indent number (b) quantity

(c) description of materials (d) minimum quantity
(13) Freferfaa # & # @ fasa owarq da F1 FE TR 7

(a) AR TUHY AT (b) fagm=

(c) WA FEl (d) o f¥eor Fan

(14)

-

Which of the following is not function of service after sales ?
(a) giving technical consultation

(b) advertisement

(c) installation service

(d) maintenance training service

e i e o R e F FE T R ?

(a) T faora (b) forelia s

(c) AT (d) st % wrew @ Fola

Which of the following is not function of financial management ?

(a) dividend decision (b) financial negotiation

(¢) purchase contract - (d) decision regarding capital structure

P.T.O.
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(15) fr=ferfea & & fra yohnr % A w1 yram W@ et safe $1 R o1 g 2 5 &6

(16)

(17)

(18)

(19)

A% Wd a1 R ?
(a) @i % (b) A\ IH
(c) aTEH=H (d) I & & HE T

372

Payment of which of the following type of cheque can be done to a person who

presents cheque in bank ?

(@) Crossed cheque (b)  Order cheque
(¢) Bearer cheque (d) None of the above
freferfaa & @ #9 ot R 6 awen 7812 7

(a) Toum ua fosra favm & wo gumag € &5 |

(b) favvm smars 74 2 |

(c) | HrE foh faqum &t smravaesar 78 |

(d) fa9vm wrimw ¥q vate §oft ey 2 |

Which of the following is not a problem of marketing ?

(a) lack of coordination between marketing and sales department.
(b)  not having marketing plan.

(¢) to think that marketing is not necessary.
(d) sufficient fund availability for marketing program.

frefofea & 3 ®)7 @t sy faw yar T2 2
(a) Fofardaes

(b) Fomie & geu @ v

(c) Fmien @ e ke @ @ew @ e

(d) fomrten & wfaffr & ofves forskan @ gew 2 mes

Which of the following is not indirect distribution channel ?

(a) manufacturer to customer

(b) manufacturer to retailer to customer

() manufacturer to wholesaler to retailer to customer

(d) manufacturer to agent to wholesaler to retailer to customer

mﬁ%mﬁmwmmi‘gmi?
(c) =aETys Mawar (d) I T+t

Which of the following characteristics is essential for a good entrepreneur ?
(a) initiative of taking decision (b) alertness

(c) professional ethics (d) All of the above
T8 N a1 e $oft e o s 7@ 2 2
(a) wg3Em (b) & IEm
(c) Hegm IEm (d) &g 3Em
Which of the following classification is not based on capital investment ?
(2)  Small Scale Industry (b) Principal Industry

(¢) Medium Scale Industry (d) Large Scale Industry
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(20) Frafefga 3 & =7 a1 g 3rg 999 %) woif T8 ST R 2

(21)

(22)

(23)

(24)

(a) TSR Fa&T (b) erdt Y gft e s
(c) = U Igcteya (d) we=

Which of the following factor does not affect product selection ?
(a) market survey

(b) capital investment capacity of entrepreneur
(¢) availability of raw material

(d) building

freferfea & & # a1 ves wive -3mse # ywifya T8 w2 2

(a) @AY (b) frenfies Afy

(c) uiEda (d) wefte

Which of the following factor does not affect plant layout ?

(a) Material (b) Industrial policy

(¢) Change (d) Waiting

Frferfiaa & & form deerm & seim gro Refrr s s 6 w1 gt 2 2
(a) Foenzam s (b) 3TaR faum

(c) TEEFa & (d) (a)d (c) 3

Out of which of the following institution industries can obtain financial
assistance ?

(a) District industries centre (b) Income-tax department

(c¢) Nationalised Banks (d) Both (a)and (c)

wefiAi 1 ferran s vgfer o amqfd e Pl § & fre s s e £ 7

(a) g T faemmE d@maa (b) ¥ FgEY™ vd fam fm

(c) UFmEgIEmfrmfafite (4) Iwd S o

Supply of machines on hire purchase scheme is the function of which of the
following institution ? :

(a)  Small Industries Development Organisation

(b) National Research and Development Corporation

(c) National Small Industries Corporation Limited

(d) None of the above

IETE TSR IO % YR R Prafelea § @ #1 a1 e e g T e

AT 7
(a) W% 37EeA &g @& (b) forefia geenati @ v ¥ 3

(c) I fasra (d) 3 frata ddy ¥g 3mee

Which of the following function cannot be performed by entrepreneur on the
basis of provisional registration certificate ?

(a) apply for land allotment (b) loan application to financial institution
(¢c) product selling (d) license application for import-export
P.T.O.
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(25)

(26)

(27)

(28)

frafafea § & S a1 Feu™ Igg ®) qft e, FAU TUT FGAO F FEEA
NEH HTAl 2 7

(a) TSH fom fm

(b) Forem sem =

(c) T 3Nafies e wa fafaares frm

(d) 39 & A IS T

Which of the following institution helps entrepreneur for allotment, purchase
and conversion of land ?

(a) State Financial Corporation

(b) District Industries Centre

(¢) State Industrial Development and Investment Corporation

(d) None of the above

BN G 8 TG T AT Ioob T8 e 1 fFfafea d d s mFrm 2 ¢
(a) 3ATE I FGET AT (b) ferdeft g1 s
(c) (a)a(b)qmi ) ZWF e smyfedmo ag

Which of the following is the reason due to which government does not apply
import duty on certain items ?

(a) Promote import (b) Obtain foreign currency
(c) Both (a)and (b) (d) For industrial modernization of country
IUNT ! GITE &9 F FeTA & fore v fomr o g @ s e w1 <t A &6

T R

(a) Hrasfier ft = (b) 3HTE TR wEEE

(¢) (a)a(b)IiwéiE (@ (a)d(b) e & |

Name of scheme of loan given by State Financial Corporation for smooth
operation of industries is

(a) Working capital (b) Assistance of earnest money

(c) (a)and (b) both are correct (d) (a) and (b) both are wrong
Frafefta § @ ® a1 yraum S wfufam, 1948 A7E R 7

(a) wHWO=F

(b) =i & geemre &1 W e gro afogfd fean s

(c) gt

(d) Heam

Which of the following provision is not in Factory Act, 1948 ?

(a) Health

(b) Compensation given by employer in the case of accident of worker
(c) Safety

(d) Welfare
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(29)

(30)

(ii)
(iii)
(iv)

v)

(ii)

stz frdté & wrefier $oft <t o 3 Prfriea 3 & A & gu ) smEvEEa
TE B R 7

(a) daTa R (b) YSft Fam

(c) 19 faga = (d) I A A HIE TE

Which of the following information is not required for the calculation of
working capital in project report ?

(a) Wages and Allowances

(b) Capital Investment

(¢) Water and Electricity expenses

(d) None of the above

3.7\, 30, 9003 Aoft w1 wfiefe 2

(a) ifem Frdteror 3 for sanferdt weaits wiee

(b) I9TEH TE T & fere Farferdt vty Oigw

(c) ®9iehA / fashma Ieareq, g 3 wfiftm & fae Fnfardt vy wiew
(d) 3T F Hr TE

Title of ISO 9003 series is

(a) quality assurance model for final inspection

(b) quality assurance model for production and installation

(c) quality assurance model for design/development production, installation
and servicing

(d) None of the above (1x30)

el o TR 1 18 3 fergrwand wamsy |

Give any two features of sole trading types of business.
wefl % 18 3 arafis W forfe |

Write any two internal sources of recruitment.

2. 5f1.7q. woe €. 1 g0 I Fame |

Give full form of D.G.S. and D.

13 oft g rfaefia Weames 7amgw |

Give any two non-financial incentives.

T 9 H1 G FA a1 et <) weent @1 forfe |

Write any two factors affecting site selection. (2x5)

THTeh! STIR qYT WIHERT STIR H 3= ¥a7sy |

Give difference between sole trading and partnership type of business.

wTe FaTy e favm & yq@ s aaeme |

Explain important functions of human resources development department.  (5+5)
P.T.O.
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4, T = HoGH oIed! i SArEvEHATE FHHTEY |
Explain requirements of a good wage system. (10)

5. (i) wa fasm & wa@ et 1 aui Hif |
Describe important duties of purchase department.
(i) WveR favm & wg@ T 1 FviF R |

Discuss important functions of store department. ' (5+5)

6. (i) U =B g & Ui 1 faar & qviw i |
Discuss in detail characteristics of a good entrepreneur.
(i) e e # fen sUm %5 % ygE w1 FaTse |

Discuss main functions of District Industries Centre in establishing industry. (5+5)

7. (i) U ey o fare & ged et @i fawar | e |
Explain in detail main elements of an ideal project report.

(i) Tamum & faftr faamor S=a #i gwzm |

Explain various types of distribution channels in marketing. (5+5)

8. (i) wie srfufoam, 1961 =t wwemsT |
Explain Apprentices Act, 1961.
(i) 1S0:9000 #ft & Turgen svaTE & faftm awt # THgE |

Explain various elements for quality assurance in ISO:9000 series. (5+5)

9. = wt =y feoaoft forg

Write short notes on following :
(i) IR
Income-tax
(i) Toftm vom & =
Various types of loans
(iii) fvenfirs Aify
Industrial policy. : (3+3+4)



